PR - bon phan sd, sb thap phan, thir tu cac phép toan co
v i oot

Tén: Ngay thang: Piém:
3 3

4,3><12+4—3(§+3,4)= 15(2,5+4,4)+3><2+§=

1><25*5—5(5 8+5,7)= (1+26)><3—3—

2 ' T 4 5

3 2

10(Z+4,6)+2><2+4,6= 4,2—3(§+2)=

5,4—-5(5 5—1)— 1><4;2-|-4(1—3 5)=

’ T4 2 2 7

1 1 =
ZX15+5_2(6+5’6): (3,4+2,2)x2+4,4
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v 5 bbn phan s6, s6 thap phan, thi tu cac phép toan co

dau ngodc
Tén: Ngay thang: Piém:
3 9 4 3 348 3
43x12+4-3(=+3,)=(—=)=(-1= 152,5+4,4)+3%x2+ —-= — =69-
: (5+349=02=C1) (2,5+4,4) 5= 3 5
1 3 159 19
= x25+5-5(5,8+5,7)=(—55 —+26 3——-=—=T7—
581 1 2
1 +4, 2x2+4,6=—=>58— 4,2-3(=+2)=(—
0( 6) = 6=~ = B 273 +2) = (3)
5,4—5(5,5— ) (— ) (—2017) 1><4*2+4(1—3 5)=(—11)
20 2 2 7
1 1 647 78 3
Z><15+5—2(6+5,6)=(— )=(— 10—) (3,4 +2, 2)x2+44—§-—15§
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